erprictt

solve , AN
simplify
AN—(T+AT)-sin(ﬁ\l—T-sin(Ae\.=0 sin(Ae\l-(Q-T+AT) > Fy=0
\2) \2) 2 )
explicit

substitute , AN =sin {%} «(2:T+AT)

(T+AT)-cos.{ﬂg-\.—T-cos.(ﬁ\.—,us-AN=0
\2) \2)

AT-COS(AQ-\.—,u,s-(2-T+AT)-sin|(ﬁ\|=0
\2) \2)

sin(Ae\
|—1
£-c0s|{i€—\|— s-(T+ AT\u- \ 2 )
a0 2 ) U ) T e
2

dT d
——u,T=0 —=u,-do
20 M T M
T2
(1 gye [p.a0 I
—dt= | p,d0 — it T1>0V0>T2 =08-u
I s | S
It | [ (2)-m(ry)

|| else

“ Hundefined

In(7T2)—In(T1) =By, — In(7T2) —In(T1) =3 p,

T2\

ln(—|=,8-,u

\71) ’

ln,(B\I

. \T1)=eﬂ-us_)T2 &P Hs

[ A6 . [ A6) -
AT +ecos|—-|—2+Tep sin;— | — AT ey e sin|——
\2) i \2) i | 2

> Fx=0

Copryright © The McGraw-Hill Companies, Inc. Permission required for reproduction or display

AQ\I

=0
)






